MIAM I-DADE MIAMI-DADE COUNTY, FLORIDA

N METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305)375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

MetalTech, Inc.
7635 West 2™ Court
Hialeah, FL 33014

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.
DESCRIPTION: Maximum Impact .060 Aluminum Storm Panel Shutter

APPROVAL DOCUMENT: Drawing No. 99001, titled “0.060” Maximum Impact Storm Panel”, sheets 1
through 8, prepared, signed sealed by Robert Monsour, P.E., dated 6/3/99, bearing the Miami-Dade County
Product Control Approval stamp with the Notice of Acceptance number and approval date by the Miami-Dade
County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors

and shall be available for inspection at the job site at the request of the Building Official.
This NOA revises NOA # 99-0217.07 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Raul Rodriguez.

NOA No 02-0312.06
Expiration Date: July 1, 2002
Approval Date: April 11, 2002

Page |




Y
‘ 2 378" 2 1/4° COMPLIES WITH: 060 [ Revisions e
— \ 2 3/8° , D 137167 S5.F.8.C. 1994 EDITION FOR DmUE COUNTY, SOUTH FLORIDA BUILDING CODE ’
S — - 2314.5 FATIGUE LOAD TESTING AND 2315 IMPACT TESTS
110 > ey
MRz o T - ss0 . S 125 DESIGN CRITERIA: 4
2 @ - o | S\ : @ < - 4 . WIND LOADS PER CHAPTER 23 OF S.F.B.C. PRESSURE REQUIREMENT CALCULATIONS L
& N & 3 . H1 ", | VARIES 3° mMAX. || N MUST BE PERFORMED PER ASCE 7-88 MINIMUM DESIGN LOADS FOR BUILDING AND =
P2 v L , e | 090 N GENERAL NOTES: Q.
2 — ,\ — | ‘l ALL ALUMINUM EXTRUSIONS TO BE ALLOY 6063-T6 OR EQUAL = \cmeemm——
2'
2 l STORM PANELS SHALL BE: g M
& S/ N A .060 5052 H—32 ALUMINUM 0R EQUAL e
™ » -
77164 g T—Ta 38—t SMOOTH OR EMBOSSED WITH A NOMINAL WIDTH OF 12 1/2 o0 ,
N 3 N B " j . @ THE STORI PANEL SHUTTER MAY BE INSTALLED VERTICALLY OR HORIZONTALLY, )
'{ ﬂ e Y ; Q @ Q - g Y L2H u LIH IN ACCORDANCE TO THE DETAILED SPECIFICATIONS HEREIN. . _Z_
" = o 08 N 05 o .093 1/8" MIN. - 1/8° MIN. PANELS MAY BE NOTCHED OR MITERED TO ACCOMMODATE AN OBSTRUCTION c On
- r . T ANCHORAGE OF THE SHUTTER SYSTEM TO CONCRETE OR MASONRY SHALL CONSIST OF «
FLAT BAR FLAT BAR t 29732’ 2’ | S 1er THE FOLLOWING OR EQUAL WITH MINIMUM ULTIMATE LOAD VALUES SHOWN (=% E 5\ -
1/4" DIA. RAV/L LOK/BOLT ANCHOR ( SLEEVED DRIVE ANCHOR ) b - s
VARIOUS TYPES OF F—-TRACK NOT SHOWN . MIN. TENSILE 1190 — MIN. SHEAR 1520 — 1 1/8" MIN. EMBED. IN CONCRETE - W O i A
MIN. TENSILE 1200 — MIN. SHEAR 1270 —~ 1 1/87 MIN. EMBED. IN MASONRY T W 5 g
11/2° 1/4-20 RAWL CALK—IN ANCHOR ( MACHINE SCREW ANCHOR ) WITH 1/4—-20 BOLTS 2 z g2
I | | , R MIN. TENSILE 1870 ~ MIN. SHEAR 1730 — 7/8° MIN. EMBED. IN CONCRETE — 53
Q'-3/4 MIN. TENSILE 880 — MIN. SHEAR 1340 — 7/8" MIN., EMBED. IN MASONRY W) "3
VARIOUS DEGREE - e . 1/4" PERMA-SEAL TAPPER BY RAWL ( MASONRY SCREWS VARIOUS HEAD TYPES ) - c
. CORNER PAN o b . MIN. TENSILE 1520 — MIN. SHEAR 1980 — 1 1/2° MEN. EMBED. IN CONCRETE -
™) KON RETURN ~ ~
. ) ) N L3H MIN. TENSILE 880 — MIN. SHEAR 1270 — 1 1/4" MIN. EMBED. IN MASONRY
N =] § % “ 1/47 ZAMAC NAILIN BY RAWL ( ZAMAC HAMMER DRIVES ) (O
N : = (18) MIN. TENSILE 980 — MIN. SHEAR 1400 — 1 3/8~ MIN. EMBED. IN CONCRETE X
. (9 >
| 2 S . MIN. TENSILE 730 — MIN. SHEAR 1320 — 1 1/4" MIN. EMBED. IN MASONRY s 2
) : | ® -
_ | 1/8" miN. . .
- 060 MIN. " ANCHORAGE TO WOOD CONSTRUCTION SHALL BE 1/4° STEEL LAGS OR LARGER 3
@ T -060 MIN, | S WITH 17 MIN. THREAD PENETRATION, 1/4-20 BRASS ¥OOD BUSHINGS OR
T1 @ Y — A | 1/47 ELCO PANEL MATES WITH 1 7/8" MIN. THREAD PENETRATION.
. 2 1/4"
1172 BLOCKING REFER TO SHEETS 5,6 & 7 OF 7 FOR ANCHOR SPACING AND MINIMUM EMBEDMENTS .
io
IT_SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE 'i’ n
STRUCTURE TO WITHSTAND THE ADDITIONAL LOADS AND INSURE PROPER ANCHORAGE. iy
™ N\ ¢
EACH PANEL SHALL BEAR A PERMANENT LABEL OR STAMP SHOWING :
. » . . -2 .
* 7-/8 } 3732 3 7/32 LN 3/3‘2 5\,/‘2?:,53” —— " METALTECH, INC. HIALEAM, F1 "~ * DADE COUNTY PROOUCT CONTROL APPROVED * Ié
. CORNER PAN I @ LJ J
™ WARNING TO OWNER OR TENANT LOCATED IN EACH HEADER OR ONE PANEL OF EACH OFENING, 1
@ STATING ° STORM PANELS WILL NOT OFFER HURRICANE PROTECTION UNLESS ALL REINFORCING 'u
M STRAPS OR BOLTS ARE PROPERLY INSTALLEO, WHEN REQURED ~ pumeg .
1 _o%0 mn. , o LIH el
/ PERMANENT FASTENER COMPONENTS, EMBEDDED ANCHOR BOLTS, THREADED CONES o
N\ L 1/8" M. OR METAL SHIELDS, NOT IN USE, MUST BE FROTECTED AGAINST CORROSION, < z
3° | R L —] CONTAMINATION AND DAMAGE AT ALL TIME. E_‘ g
i ’ SPECIAL NET PANEL SECTION o nE
| = | PRODUCT REVISED Z *
83 complying with ¢h, p .
Buiding Code € Florig, g
Acceptance No 02 - 03 /2 . v &
7/8° 1\ 3/32° 3 7/32° 3 1/3@° 3 7/32° 1 3/32° 7/8° AL STV 3/8" ( TvE ) Expiration Dage 7 Tos1 S .
STUD MAY BE INTALLED AL APPUICATIONS ANGLES STUDDED IN 0
, IN REVERSE DIRECTION g:"“*—“* INCLUDES STUDDED T1 'SHORTER LEG ONLY I?lyi.m ] o
o YPICAL o~ 1,/4-20 X 3/4 Division ) s
< 1/8% 18-8 STAINLESS STEEL ™ ‘Q,( @
@ ~ T KNURLED STUDS & N
- 12 1/2° 0C. APPROI >
) N REFER TO APPLICATIONS ON SHEETS 2 & 3 PROVED AS COMPLWNG WiTH THE E(J oy
SOUTH FLORIDA BUILDING CODE <
. ANCHOR MOUNTING HOLES LOCATED ON 3 SEP/IRB/RSM
MOUNTING HOLES 12 1/2" 0.C. | EITHER HORIZONTAL OR VERTICAL LEG, DATE Pafag 0 9.9 S 5
BY f1¢ %42 Ly 15
o p e Q 01/15/89
. LONCCT fl Y wAD
@ @AND A Pf;yuu‘fu‘ o ] i“OL DIV:S G S SHOWN
CROSS SECTIONS | 1 W 49 BN cost coce o | 2530
4 ACCEPTANCE R -07. = =]
STUDDED ANGLE DETAIL g 0377000007 S
ROBERT 8. MONSQUR, PE S 1
- - £, 7 IN PLAC F EB—0006024 s}
1/8% x 1 1/2° FLAT STUDDED STRAP MAY BE USED iN PLACE OF ANGLE T CHGINGE TG, e 7

79 -02s,7-07)



— \
4 4
| ' HEADER or SILL MAXIMUM IMPACT: STORAN ANEL REVISIONS |87
| s monon scueous o] DD o ® w5 ©6.® | ~
NOTE:* CONNECTION TYPE 'B" NO TE* or
.500 by o > HEADER or SILL
R Y 5 X
s £0 :ﬁ
s
SEE ANCHOR SCHEDULE . Lo == . IS
CONNECTION TYPE "C” N SEE ANCHOR SCHEDULE . SIS .
HEADER or SILL @—/ CONNECTION TYPE "A” ) ,EO(—‘@-‘\L:E B i wn A A
se. L NOtEXK : -
HEADER or SILL DETAIL 3 SEE ANCHOR SCHEDULE \eemrm—_—
YLTAIL 9 ONNECTION TYPE "C"
pro——————— ol Zom PO R Le
———— DETAIL 4 T~
HORIZONTAL INSTALLATION VERTICAL INSTALLATION ,
HEADER ¢r SILL ELEVATION ELEVATION
[ (8) 02 19) fLance war se reversep (1000r 1) ity e INSTALLED IN REVERSE DIRECTION g
CONTINUOUS BLOCKING —
NOTE: X m/\ OR @ 3/16 ANGLE - .. SEE ANCHOR SCHEDULE "
: o 1/4-25 THRU BOLT SOLTED TOCETHER WITH e CONNECTION TYPE "A" -, O
oo —- #/ LOCK NUT 127 O.C. 1/4-20 THRU BOLT #/ LOCK NUT 6% O.C. T &0, ¢ Z A -
b £o USED AS HEADER OR SILL N = 5
Ea . = ﬁ
)/ - 9 —@@@'10 @ :L ‘e OR OTHER HEADER or SILL E‘“p—rz 8 & o
>/ OR E.D.s 17 MIN. NOTE: X REFER TO THAT APPLICATION FOR ;' <K = N g 2
SEE ANCHOR ScHepuLe —~— HEADER or SilL NOTE: S SEE ANCHOR SCHEDULE - PROPER CONNECTION TYPE NOTEX . SEE ANCHOR SCHEDULE = -
Lo}l ' - mn 2
CONNECTION TYPE CONNECTION TYPE "E ) L CONTINUOUS. #O0D BLOCKING CONNECTION TYPE "B O N i
VARIOUS SIZES DETAIL 8 Y g
DETAIL & DETAIL 6 DETAIL 7 - W -
A~
HEADER or SILL N > > N
(19or M) siay 8 WSTALLED 1w REVERSE DIRECTION &0 E.D. SEE ANCHOR SCHEDULE > V;J
- SEE ANCHOR SCHEDULE AS IN DETALL 6 fog—{s {_OJ Gow R booR f_‘_ﬁI_T[o CONNEGTION TYPE "D < g
¢ + = 500 CONNECTION TYPE "B~ @ @ CONTINUOUS BLOCKING b : CPENING @
. : 0 ; orR\19) 3,16 ancirs
. OR OTHER HEADER or SiLL 7 AL‘ 2 1/47 MAX,
) BOLTED TOGETHER WITH - (19
Rer 1o Tt erleuton ror B e ot tock i - ac o ® connueus avocrrc '
E.D. \ ' : USED AS HEADER OR Sitl 9" AN BOLTED TOGETHER WITH 5
-, \\ ' y , 1/4-20 THRU BOLT W/ LOCK NUT 12° O.C. =
' _ CONTINUOUS BLOCKING T Nt . CONTINUOUS BLOCKING . =
« NOTEK, 2 PIECES FASTEN TCGETHER WITH . NqTF.* (16) 52 (19) 3/16 ancie NOTE: X -t
. > /64 RIVETS OR #8 TECK SCREWS 12~ O.C. , . P / / : T
OBSTRUCTION 7 5/8" wAx. ] 1/4—20 MASHINE SCREW ANCHOR [ % OR N/ CONTINUOUS BLOCKING L3 g
. / WITH SIDEWALK B2LT ‘ ? g
L . Ll OR 1/47 MASONRY SCREW 3~ O.C. y 1/4~20 x 3/4 KNURLED STUDS o led !
DETA/L 9 A T L - ‘37 MIN. EDGE DISTANCE STORM PANEL WITH WASHERED WINGNUTS 12 1/27 0.C. (TYP.) g
715 PSF MAXIMUM HEQ< EQ " PQURED" CONCRETE ONLY JAY BE MOUNTED VERTICALLY 10
MAXIMUM PANEL HEIGHT 96" '~ . '+ OR HORIZONTALLY <
o]
- * m
) RETURN PAN, ANGLE, TUBE OR WOO m .
P tia | WPLEERER Sui BuLb oo Conomons IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR 3
. i TO VERIFY THE SOUNDNESS OF THE STRUCTURE TO WITH "
RETURN PAN OPTIONAL USE OF 1/8° STAND THE ADDITIONAL LOADS AND INSURE PROPER ANCHORAGE. z o
o0k PLUC MO0 mcumsJ VARIOUS SIZES Fox PURROSE GF EXTENOIG WAL SHUTTER SYSTEM MAY BE INTSALL INTO WOOD, CONCRETE, )
e &
™ " e FLOOR PLU AND MACHINE o MASONRY. ) i~
1/8 X 1 1/2 FLAT 84R St “ o * 0
STUDOED WM MWGNUTS [, . @ SCREW ANCHOR 12 O.C. C e WHEN ANCHORING TO WOOD, THE ¥OOD MUST BE g E'
: A MINIMUM 2 X 4 EQUAL TO #2 SOUTHERN PINE g
2 9
8 / ; D /_\ /}UQ\ WITH 0.55 SPECIFIC GRAVITY ™ R\ n
o 4 K
29 AND STRUCTURALLY FPART OF THE FRAMING STRUCTURE eSS
- FULL STORM PANEL (TYP) \—— SLOTTED MOUNTING HOLE MAY BE USED jl_“/ - S 4
2 _ i CoTTR e O e e 708 AL MEADER ON ToP OR SUCURELY ATTACHED TO FRAMING STRUCTURE % N e s——
) SPECUL PANEL CONFIGURATION. MAY SPECUL PAN APPLICATIONS. SIL N boTTou MAXIMUM GAD BETWELN S o “,’;’;’4 APPROVED AS COMPLYING WiTH THi g =
e A5 P DEDL IO M B 1 1/4-20 x 1/4 KNURLED STUDS \ AS VIEWED FROM FRONT VIEW PRODUCT REVIsED SOUTH ¥ lomof BUILDING CODE S SEE £ A
PANEL, BY THE USE OF Jo4 FOP RIVETS f WITH WASHERED WINGNUTS (1Y) B uiding P'Y‘nzwlthmenm D‘TE I‘f’l =
16* TUBULAR RVETS DR 10-24 = 7 b 01/15/99
RU BOLTS 16° O.C. “’WﬂwNoOHB:z L0k B /é\ﬁ —a
c /_\ /_\INSIDE CLOSER PAN ASSEMBLY /_\ s Expiratipn n, i B SHOWN
A CORMER PAN l \_/_\/ 7 é( hwwm u),w D'\'g o o oot
O/ ANGLE MAT wARY | 2 o L ﬁ{mm - EULDING CODE COLIPLIANCE OffICE | = @
, ade By Q
/9;;\ ﬂ N 2 PLAN VIEWS ‘ ROBERT S. 'MONSOUR, PEDivision I acceprance vo.g 3*0.2«}‘7_ N 2
PANEL NOTCHED AT BOTTOM 3
' DETAIL 12 70 PASS OVER STUD ANO EB—0006024 |2
4 e WINGNUT IN SILL (EACH SIDE) AT ENGINEEUNG. HC. 7
A B C&D . y - an




1/4-20 FLOOR PLUG WITH

MACHINE SCREW ANCHOR

HEADER OR SILL
CONCRETE OR MASONRY <,

CONNECTION TYPE ~A"
o B
‘E.D. E

S

T~
(@
A

1/4-20 FLOOR PLUG WITH
1/4-20 BRASS WOOD BUSHING
HEADER OR SILL INTO WOOD

CONNECTION

£.D:

AN

HEADER or SiLL

T
- 3/4° MIN. 1 1/4° MAX,

SEE ANCHOR SCHEDULE

THE USE OF AN EXTRUDED HEADER OR SILL.
THE SHUTTER MAY BE ANCHORED DIRECTLY TO THE

REFER TO DEFECTION 1 STRUCTURE WITH THE USE OF ONE OR A COMBINATION
CHART OF DETAIL 13
GLASS PR NOTE: X
R\
METALIECK e ]
STORM PANEL —\\
\-

DETAIL |2

NOTE: X 1/4" PANEL MATE SCREW WITH 14-20 STUD HEAD
. l . sWITH WASHERED WINGNUT
. HEADER OR SILL
NOTE: % . WOOD, CONCRETE OR MASONRY
THE METALTECH STORM PANEL MAY BE INSTALLED WITHOUT s - £, DT

. ] . CONNECTION TYPE "A"

[ REFER TO DEFECTION
CHART

~ea. GLASS
METALTEOH e
/—/— STORM PANEL

’/‘

.
Q @)/}

CONNECTION TYPE "A”

;

1/4 " PANEL MATE \WITH MACHINE SCREW HEAD
VITH 14-20 SIDEWALK BOLT
HEADER OR SILL

WOOD, CONCRETE OR MASONRY

i

or
HEADER or SILL

(®or(B—]

FPANEL SECURED VITH —
WASHERED WINGNUTS

STUCCO FINISH /_

NOTE: X

en CONNECTION TYPE "A"
?r—

3

CHE

REFER TO DEFECTION
CHART

METALIECH o/
STORM FPANEL

®o

L

ECG. .

" ROTEX

CONNECTION TYPE "A”

PRESTUCCO INSTALLATION

©

/u

79

.. £Q:

-~

DETAIL 14

CONNECTION TYPE ™B"

4,4
i a4 «

14

HEADER or SILL

MAXIMUM IMPACT- STORM PANEL

7
REVISIONS BY

N.-----‘
ﬁ
U

Y

5

Z A\
[aVEN R
W & &4
W 5§
Z N u <
géfé
OX *
~

>
=
=

~1

DETAIL 15

-

ALL

DETAIL 19

)? SSERVE THRU WINDOW

STORM PANEL

3/8" THRUBOLTS 9 1/2" O.C.
WITH 2X3X.125 ANGLE ON BOTTOM
WIND PRESSURE 71.5 P.S.F. MAX,
MAXIMUM PANEL LENGTH 48~

1 1/4" MAXIMUM

WOOD COUNTER 1 1/4" MAX.
THICKNESS COUNTER MAY BE
MADE OF OTHER MATERIAL

SEE ANCHOR SCEDULE FOR ANCHOR TYPES

ANCHORS 12" 0O.C.

DETAIL 16

E 74
_&d],
SEE ANCHOR SCHEDULE .
CONNECTION TYPE "C" £D
0 ’ : R SEE ANCHOR SCHEDULE
. , wan
(S eaner or s : Je_+ | connecTion TYpe -

SEE ANCHOR SCHEDULE
CONNECTION TYPE "C"

PRODU
25 com CT REVISED

DETAIL 17

0 or@HFADER or SiL
2,

4 3/4° MAX

i
S

&P

& SCREWED OR BOLTED TOGETHER WITH
1/4-20 THRU BOLT W/ LOCK NUT 12° O.C.

CONTINUOUS BLOCKING
/@OR@ 1/4" ANGLE

1/4-20 MASHINE SCREW ANCHOR
WITH SIDEWALK BOLT

OR 1/4° MASONRY SCREW 4~ 0.C.
J3* MIN. EDGE DISTANCE

POURED CONCRETE ONLY

NOTE: %

Expiration

IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR

TO VERIFY THE SOUNDNESS OF THE STRUCTURE TO WITH
STAND THE ADOITIONAL LOADS AND INSURE PROPER ANCHORAGE.
SHUTTER SYSTEM MAY BE INTSALL INTO W00D, CONCRETE,

MASONRY.
WHEN ANCHORING TO V/OGD,

THE WOOD mMUST BE

A MINIMUM 2 X 4 EQUAL TO #2 SOUTHERN PINE

WITH 0.55 SPECIFIC GRAVITY

AND STRUCTURALLY PART OF THE FRAMING STRUCTURE

OR SUCURELY ATTACHED TO

59.5 PSF MAXIMUM / PANEL HEIGHT 109" MAXIMUM t [ j
6771199

DETAIL 20
ADJUSTABLE HEADER OR SILL

ROBERT
EB-0006024

TS ENCIMCERING, NC

L. MONSQUR, PE

FRAMING STRUCTURE

APPROVED AS COMPLYING wiTH THE

SOUTH FLORIDA BUILDING conE
DATE.

w

PRODUCT ConTR: Div.s on
BULOiRG copr conre

s
ISR} O

FICE

DETAIL 18 Bulding Cog,"* b Fordy

Aeceptance No P2-0%,2, o4

v

i

BUILDING CODE COMPLIANCE |

CeRPILCE 0, 79 70217 6

FLL 33014

HUALEAM,

MES'EI:QI;H:[:H. IN.

7833 w.

"/,
<X
EST.1957

\{3%)
Gs,cf‘

rm——

SEP / JRB / RSN

APPRORD

[ e
01/15/99

oz
SHOWN

o
399001

sur

3

7 rn



THE METALTECH STORM PANELS MAY BE INSTALLED WITH OR WITHOUT THE
HORIZONTAL BRACE STRAP. REFER TO PANEL DEFLECTION CHARTS.

1407 MAX. PANEL HEIGHT

NO PANEL STRAP
IS REQUIRED
x| &
3 . PANEL DEFLECTION CHART
2 3 WITHOUT HORIZONTAL STRAP
g 2 PANEL HEIGHT 0-78" |over 78°~96"|over 96™— 140"
=~ = WALL MOUNT 2" 21/2" | 4 1/8"
INSIDE MOUNT 2" 2 1/27 | 4 1/8”
FRONT VIEW SIDE VIEW BUILD oUT 2" 21/2" | 4 1/8"
060 ALUM MINIMUM DISTANCE BETWEEN GLASS AND PANEL
DESIGN PRESSURE| PANEL SPAN
36.88 740“ HORIZONTAL BRACE STRAP
- DETAIL 13 ON SHEET 3
44 40 755 ” 1/4-20 STUD . s
: WITH/W/NGNUT /8" (hP) N
” 12 1/2" O.C.
47.81 | 132 veee B R T
51.23 | 128" KT Ao s 4 7
” SIDE VIEW FRONT VIEW a3
58.06 | 120 o1l s
61.47 | 118" DETAIL £ ol e
66.85 | 113" SRR
2 3 )
7146 | 108 B[] 3
75.30 | 106" 3]
81.45 | 100~ N
p MAXIMUM GAP BETVIEEN PANEL = S
86.83 a4 AND HEADER IS 1/4° (TYP.) 7
Q1.44 89" DETAIL_F_ DETAIL 13 ON SHEET 3
3 B 3 - WALL MOUNT
1 i g
H— Ao — @ S NO HOR. OR SLL
6 —_ 1 8
1 ;
4y g' ’\)\\\ gl

v/ A\ g\

i

FASTENER MUST BE IN NORROW PORTION OF KEY HOLE
MOUNTING HOLE MAY ALSO BE A 9/16° DA CIRCLE

DETAIL G”

.

N N/ N\

HORIZONTAL BRACE STRAP -

HEADER AND SILL

EXPLODED ASSEMBLY

PANELS MAY RUN CONTINUOUS BY WIDTH
EITHER HORIZONTALLY OF VERTICALLY

MINIMUM DISTANCE TO GLASS

060 ALUMINUM MAXIMUM IMPACT

140" MAX
ONE PANEL STRAP MIDSFAN 7]

MIDSPAN

G g

140" MAX. PANEL
ONE PANEL STRAP

LOCATED MIDSPAN

STORM PANEL

HEIGHT

PANEL DEFLECTION CHART
WITH HORIZONTAL STRAP

~ FRONT VIEW SIDE VIEV

PANEL HEIGHT |over 96°—107"over 107°-140°
WALL MOUNT | 2 1/2" |2 13/16"
INSIDE MOUNT | 2 1/2" |2 13/16"
BUILD ouT 2 12" |2 13/16”"

MINIMUM DISTANCE BETHEEN GLASS AND PANEL

HEADER AND SILL TYPE MAY VARY, DEPENDING ON APPLICATION

DETAIL 3,4, & 8

ON SHEET 2
L_J~
K
Z -
Q - $
= x &
AN
'6' a2 2
x <
g of o
~ &
E | B
Ly
i 5
.
Q
/e
%

DETAIL 3,4, & 8
ON SHEET 2

WALL MOUNT

ANCHORING PANEL
TOP & BOTTOM

WITH STUDDED HDR/SILL

DETAIL 1 ON SHEET 2
DETAIL 15 CN SHEET 3

DETAILS 5,7,9,10 AND 11

\\; HEADER
R
th
151
ST
©2
R v -
QJU ® a
ué < “v
E3 Yog
a° > z
S¥n| « a
33 g
3
e 3

GLASS — |

- _\,(
SiLL

ON SHEET 2

HEADER

)
73
bl N
3|
O
2R A 3
W o6

x
ué I
Els a W
Qq 2 E
Q% ?

Q
3T 2B
zy ?
34 @

GLASS —#ni
4_:‘—_—'—'<

Asu

DETAIL 2 ON SHEET 2
DETAIL 16 ON SHEET 3

MINIMUM DISTANCE TO GLASS
SEE PANEL DEFLECTION —)
SToRwW PANEL

SHUTTER PANEL SPAN

CLASS —am]

HEADER
(B Ay =y

L i N
’E;:j;;q SiL

Y
- e

AN

DETAILS 3,4 AND 8
ON SHEET 2

WALL MOUNT

WITH HOR. AND SiLL

DETAILS 5,7,9,10
ON SHEET 2

AND 11

_BUILD ouT_
WITH HDR. AND SiLL

TYPICAL SECTION VIEWS

)

ROBERT 8.

71
ONSOUR, PE
EB-0006024

ATES ENGINEERING, NC.

DETAIL 4 ON SHEET 2

INSIDE MOUNT

WITH HDR. AND SiLL

PRODUCT REVISED
23 complying with the Florida
Code

Buiding

Acteptance No 6 2-023/2.5 6
_T——T.

Expiration Date

Miami Dade Produc Coavt

Division

APFROVED AS COMPLYING WiTH THE
SCUTH FLORIDA BUILDING CODE

ACCEPTANCE MO, ?j

COMPLIANCE  OFfICE

- DU _7;9__7_

|

fxw%@
@ MEeTALI

BUILDING CODE COMPLIANCE

h

REVISIONS

06/03/99

7
12

2100w TR STREFT Sontk 3t

R, Dasipn

RAMMS ENCGINEERING, INC.

VA AL TIOWRIDA 11018

EH doutng4

ECH, i~nc.

70633 W, SECONDO CT.

AP

pr—p—
SEP/IRB/REM

[ ]
01/15/99
_~ak
SHOWN

-
99001




ANCHONR

S CHEDULE

ANCHOR SPACING vs DESIGN PRESSURE
AND CONECTION TYPE

UP TQO 59.6 PSF

UPTQO 71.5 PSF

POURED CONCTETE

CONCRETE BLOCK

POQURED CONCTETE

CONCRETE BLOCK

CONECTION TYPE

CONECTION TYPE

CONECTION TYPE

CONECTION TYPE

ANCHOR TYPE PANEL | o | E B [ c Al cl]o]eE Al B ]c]o]E
1 13 13 13 13 13 16 13 9 13 13 16 13 11 13 13
. 68° SPAN 9 13 13 13 10 13 16 13 7 13 13 16 13 9 13 13
blﬁ [ ov—] 7 13 13 138 13 16 13 6 13 13 16 13 7 13 13
8 13 13 13 10 13 16 8 7 12 13 18 9 8 12 13
1/4° RAWL LOK/BOLT (SLEEVE ANCHOR) | 88" SPAN 7 13 13 13 8 13 16 8 6 10 12 ‘16 8 7 1M 12
1 1/8° MIN. EMBEDMENT 5 13 13 13 6 13 15 7 5 9 10 - 15 7 5 9 11
9 7 12 13 9 8 12 15 5 6 7 6 . 15 5 7 7 6
105" span | 8 6 11 12 8 7 1 14 5 5 6 5 : 14 5 6 6 5
7 5 10 11 7 5 10 12 4 4 6 5 12 4 4 B 5
5 6 7 6 5 7 7 4 5 5 3 13 4 6 5 3
1267 span 5 5 6 5 5 6 6 3 4 4 3N 3 5 4 3
4 4 6 5 4 4 6 3 3 4 3 10 3 4 4 3
5 5 3 76 5 A v e
140° span 3 4 4 3 3 5 4
3 3 4 3 3 4 4
13 10 13 13 13 8 13 16 13 8 13 13 14 13 7 13 13
) ; 687 SPAN 13 7 13 7 13 6 13 7 13 13 13 13 6 13 13
T L 13 6 13 6 13 15 13 6 13 13 12 12 5 12 12
R ‘ 13 8 10 6 13 15 7 6 10 11 11 5 5 7 8
| 887 SPAN 12 6 9 5 12 13 6 5 9 10 10 5 4 6 7
1/4" RAWL ZAMAC NAILIN DRIVE 11 5 8 4 11 12 6 4 8 9 9 4 4 6 6
(HAMMER DRIVE ) ; 7 6 5 5 7 13 4 6 6 5 9 3 4 4 3
1 /8" MIN. EMBEDMENT IN CONCRETE 105" span 6 5 5 4 7 1 4 4 5 4 8 3 4 4 3
1 1/4* MIN. EMBEDMENT IN BLOCK 6 4 4 4 6 10 4 4 5 4 7 3 3 4 3
4 5 3 4 4 3 5 4 3 8 § 4 3
126" span 4 4 3 4 4 3 4 4 B 7 3 3
4 4 3 3 4 3 6 3
3 5 3 3 ; ;
140" span 3 4 3 3
VARIOUS HEAD TYPES \ 13 13 9 13 16 16 13 16 13 7 13
' nn 68° SPAN 13 13 7 13 16 16 13 15 13 6 13
@:&\\\\\\\\\\\\\\\X\‘.\\\\\.M\B— 13 13 6 13 16 16 8 13 13 " 14 13 5 14
\ W b= 13 13 7 13 16 1" 10 13 13 13 6 6 9
W@.\X\XM.\.\X\X\X\V 88" SPAN 13 13 6 13 16 10 8 13 13 12 6 5 8
@\\\\X\X\\K\\X\X\\X\B 13 13 5 13 16 9 7 12 13 . 11 5 4 7
13 13 G 9 16 7 8 9 7 011 4 5 5
{MASONRY SCREWS) 1057 span | 13 13 5 8 6 6 7 8 6 {10 4 4 5
1/4* RAWL PERMA-SEAL TAPPER 12 13 4 7 16 6 5 7 6 : 9 3 3 4
1/4 ELCO PANEL MATES 9 7 5 5 16 5 7 6 4 .9 Ten 4 4
1 1/2° MIN. EMBEDMENT IN CONCRETE 1267 span 8 6 4 5 14 4 6 5 4 |8 4 3
1 1/4* MIN. EMBEDMENT IN BLOCK 7 6 3 4 13 4 5 5 3 8 3 3 5
6 4 4 3 : Y R R
140 span 6 4 3 3 : e B
13 13 . 9 13 ‘13' 13 13 13 13 116 13 8 13 13
68" SPAN 1313 8 13 6 13 11 - 13 13 [ 16 13 6 13 13
:U 13 13 ¢ 6 13 16 13 9 13 13 | 14 13 5 13 13
13 13 7 13 16 13 11 13 13 | 13 6 6 9 10
1/4-20 x 7/8° , 1/2° DIA. 88" SPAN 13 13 ¢ 8 13 16 12 9 13 13 {12 6 -5 8 9
RAWL CALK-IN 13 13 ¢ 5 13 16 11 7 1313 i 11 5 4 7 8
{MACHINE SCREW ANCHOR) 1 13 13 6 6 9 16 8 9 1 g 111 4 .5 5 4
7/8" MIN, EMBEDMENT 105™ span 9 13 13 8 5 8 16 8 7 10 8 10 4 4 5 4
7 13 13 5 4 7 16 7 6 9 7 9 3 3 4 3
9 11 9 4 5 5 16 6 8 8 5 9 3 4 4 s
126" span 7 10 8 ;10 4 4 5 6 5 6 7 5 8 4 3
6 9 7 9 3 3 4 16 5 5 6 4 8 B 3 3
7 8 5 ; g 3 4 4 T, % &3, X BRR RS R SRR LR 5
140° span 6 75 19 3 4 3
5 6 4 | 8 mErm o3 3

ROBERT 8. MON

OUR, PE
EB-0006024

AT ENGINEERING, NC.

NOTES:

SPANS AND LOADS SHOWN IN THIS SCHEDULE

ARE FOR DETERMINING ANCHOR SPACING ONLY.

FOR ALLOWABLE SPANS VS. DESIGN LOADS
REFER TO SHEET 4.

MINIMUM ENBEDMENT AND EDGE DISTANCE EXCLUDES
STUCCO AND/OR WALL FINISHES.

SHADED AREAS REPRESENT ANCHOR CONDITIONS THAT
ARE NOT ACCEPTAEBLE.

IT SHALL BE THE RESPONSIBILITY OF THE
CONTRACTOR TO VERIFY THE SOUNDNESS OF
THE STRUCTURE TO HITH STAND THE ADDITIONAL
LOADS AND INSURE PROPER ANCHORAGE.
SHUTTER SYSTEM MAY BE INTSALL INTO WOOD,
CONCRETE CR MASONRY .

PRODUCT REV'SED
complying wigh ¢
ﬂldlng be Florid

A‘“P‘lnu No 0.
Expiration D.‘t’e\‘ﬂ//zig

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BU'LDING Cone

PRODUCT CONTROL DIV § Ln
BUILDING CODE COMPLIANCE rHCE

ACCEPTANCE r;o.ﬁi:."_lq-‘.g)

BUILDING CODE COMPLIANCE |

[

rREVISIONS 8y
106/03/99KH

'

|

HHTL ANt

P [ A B LORIDA 31018

2100 W Jem STHELT,

RAMMS €NGINEERING, INC.
%u‘?d/f‘a/ @Wy .

o 00UBO24

FL 33014

HUAL EAr,

. SECOND C7.

SIDIRD,,
&
EST.19587

3 :
@ lgleTALlEEH. INE.

SEP/JRB
]

[
01/15/89
“-mn
SHOWN

e
990071




2 NCHOR SCHEDULCE

v

/ /A

ROBERT S. MONSOUR, PE
EB-0008024

T ENGINEERING, NC.

ANCHOR SPACING vs DESIGN PRESSURE UP TO 81.5 PSF UPTOQO 91.4 PSF
AND CONECTION TYPE POURED CONCTETE | CONCRETE BLOCK POURED CONCTETE CONCRETE BLOCK NOTES:
. CONECTION TYPE | CONECTION TYPE CONECTION TYPE CONECTION TYPE
ANCHOR TYPE PaneL | B0 [ A8 JcjofejAafsfco]eElAaJelc[o|e | a[s]c]|p]eE SPANS AND LOADS SHOWN IN THIS SCHEDULE
o8 SPAN :_ :g E g : :g :g : :g :g ? g . :g }g : , g . }f _ :g }g. g 579 :f . :g ARE FOR DETERMINING ANCHOR SPACING ONLY.
@ ] a>—HFA] T | 16 41 5 13 13 ‘16 116 13 13 |15 7 5 10 11 115 7 & 10 11 FOR ALLOWABLE SPANS VS. DESIGN LOADS
¥ 171 6 6 8 7 16 6 7 8 7 [14 5 5 6 5 14 5 6 6 5 REFER TO SHEET 4.
144" RAWL LOK/BOLT (SLEEVE ANCHOR) | 88" SPAN z 14 5 5 7 6 14 5 6 7 6 [ 13 4 4 5 4 ;13 4 5 5 4
1 178" MIN, EMBEDMENT | 1ue 13 5 4 6 5 13 5 5 6 5 11 4 4 5 4 i 11 4 4 5 4 MINIMUM ENBEDMENT AND EDGE DISTANCE EXCLUDES
¥ 3 4 5 5 4 113 4 6 5 4 :
105" span z 12 4 4 5 3 12 4 5 5 3 3 STUCCO AND/OR WALL FINISHES.
T/ 144 3 3 4 3 i1 3 4 4 3 ~
U S : i SHADED AREAS REPRESENT ANCHOR CONDITIONS THAT
" ’ ARE NOT ACCEPTABLE.
i T o % =
. 140" span | > E 5 5 ] ? X IT SHALL BE THE RESPONSIBILITY OF THE
o e Sl By S S CONTRACTOR TO VERIFY THE SOUNDNESS OF
- B RS S AR o = P e et 32 b Rl ciiaieniiod R R e e R B 3 R AR AR 7‘
| 3 16 11 7 13 13 -13 8 6 13 [15 7 7 10 12 11 5 5 7 9 [Zﬁogrf;%gnﬁgugg ;%gpggAﬁgcﬁggAggD’ JONAL
. ! §8° SPAN . - .
I —— g P onmowm s oA I A D . SHUTTER SYSTEM MAY BE INTSALL INTO WOOD,
m:t | | ¥ S FE— T yE— CONCRETE OR MASONRY.
; | 88* SPAN z . 4 s 34 3 4 4 3 8 3 3
1/4* RAWL ZAMAC NAIUIN DRIVE ‘ e 4 4 3 3 3 3 4 3 7 3
(HAMMER DRIVE ) , ¥ 3 5 4 s i
1 1/8° MIN. EMBEDMENT IN CONCRETE 105" span z 3 4 3
1 1/4° MIN. EMBEDMENT IN BLOCK i 14 3 3 3
¥ ’
' 1267 span | Fa
114
' ka
, i 140° span z
1 ! 1 1/4* S B 0% 59 e
VARIOUS HEAD TYPES : ¥ % 13 11 13 13 15 10 7 13 13 j16 11 10 13 13 14 7 6 9 11
g e | SFSPAN 7 16 13 9 13 13 14 9 5 13 13 |16 10 8 13 13 12 6 5 8 9
SN [ TV 16 13 7 13 13 - 12 8 4 1112 |16 9 7 12 13 115 4 1 8
aXHHUHXB T 16 8 9 10 9 12 4 5 6 5 |16 6 8 8 6 11 3 5 5 3
SRRt 88°SPAN [ Z % 7 7 9 8 10 4 4 5 4 5 6 9 3 4 4 3
@Xﬁﬁm\m\m&\\% i 6 6 7 4 3 5 4 ‘ 8 3 3 4 3
5 8 5 3 5 4 3 R
(MASONRY SCREWS) 105" span 5 6 4 3 4 4 3
1/4" RAWL PERMA-SEAL TAPPER 5 4 7 3 3
1/4® ELCO PANEL MATES
1 1/Z° MIN. EMBEDMENT IN CONCRETE 1267 span
1 1/4 MIN. EMBEDMENT iN BLOCK
140° span
]] 68° SPAN
PRODUCT g
VISED
114-20 x /8", \/Z" DIA 88" SPAN 8 complying v
RAWL CALK-IN &mmmc:ﬂ b tbe Forig,
(MACHINE SCREW ANCHOR) EA”"“,‘“’ENooz., /2. of
778* MIN, EMBEDMENT 105* span WMM
M
L] g
126" span | Division ¢ Controj
140° span f
! APPROVED AS COMPLYING 17y THE
SOUTH FLORIDA BUILDING cope

DATE_Jwu i ot 19
s flobis A7
PROGUCT Co o v N

BUILDING oD Cotee snee Ci

ACCEPTANGE NO. _?7,:»111'_?;15:/‘

BUILDING CODE COMPLIANCE |

REVISIONS BY

06/03/99KSH

2100 W 761h STRELY, SUITE 3t

RAMMS €ENGINEERING, INC.
S cbinat Dsipn

|

AP AL HLOKIDA 33018

[ Q006024

. FL 33014

ECH, ncC

-

E
<
»
R

2.

7633 wW. SECOND CT.

€ST. 1957

SEP/JRB/RSM
PIRIAD

o e
01/15/99
man
SHOWN

L
99001

Uy

6

. 7




A N

NOTES:

SPANS AND LOADS SHOWN N THIS SCHEDULE

- H O R

CHEDUTLE

s
| 81.5 PSF “UP TO 91.4 PSF
WOOD APPLICATIONS UP TO 59.5 PSF UP TO 71.5 PSF UP TO
CONNECTION TYPE CONNECTION TYPE CONNECTION TYPE CONNECTION TYPE
ANCHOR TYPE DIA. SPAN A | B C | D | E A ] B | D | E A 1B | c[p]|E A B C[D]E
68"SPAN | 14 43 5 13 13.{12 12 5 12 12 |10 7 4 10 10 | 9 4 4 6 7
B\ \\Hu BRASS WOOD BUSHING 14-20 | BB"SPAN | 41 8 4 11 11 |9 4 3 6 7 8 3
105°SPAN| ¢ 4
126"SPAN| g 3
1= MIN. PENETRATION 140"SPAN| g &
. 68°SPAN | 16 13 8 13
!_J ,‘,,—\»\,—\--‘} 5' }' \.‘.‘. r‘r tb 1/4° 88" SPAN 14 11 6 13
fa—
WOOD LAGS 105" SPAN{ 12 6 5 8
126° SPAN| 10 3 5
1* MINIMUM TREAD PENETRATION 140" SPAN | g 4 3 3 : i
- 88°SPAN | 16 13 10 13 13 | 16 13 8 13 13 16 10 7 13 13 | 14 7 6 11
5/16° 88" SPAN 16 13 7 13 6
WOOD LAGS | 1057 SPAN | 14 7 6 g 5
! 126" SPAN| 12 4 5 6 4
1* MINIMUM TREAD PENETRATION | 140"SPAN | 49 3 4 4
e 1'68°SPAN | 15 13 11 13 13 | 16 13 9 13 13 | 16 12 8 13 13 | 16 8 7 11 13
S = e [8SPAN | 16 13 9 13 13 7
T WOODLAGS [105°SPAN| 16 8 7 11 12 6
126* SPAN| 13 5 6 6 5 5
1* MINIMUM TREAD PENETRATION 1407 SPAN | 11 3 5 4 3 5 . o
1 - 68°SPAN | 1§ 13 12 13 13 {16 13 10 13 13 | 16 13 9 13 13 | 16 9 8 12 13
f I At 7116 88°SPAN | 16 9 8
- WOOD LAGS 105" SPAN | 16 8 5
126" SPAN| 15 7 4
1* MINIMUM TREAD PENETRATION 140" SPAN | 13 5 I
68° SPAN 16 8
\M \d P
M\l‘{\’\LH R T 14* [ 88 SPAN | 14 6
1/4* ELCO PANEL MATES 105" SPAN | 12 5
126" SPAN | 1q 3
1 7/8° MIN. THREAD PENETRATION 140°SPAN| g 3
~— 68° SPAN 16 8
e R AR LAt St . :
t—:(_rr ARUURRT 114 8" SPAN | 14 6
1/4* ELCO PANEL MATES 105" SPAN | 12 5
126" SPAN 10 3
1 7/8° MIN. THREAD PENETRATION 140°SPAN| 8 3

ARE FOR DETERMINNG ANCHOR SPACING ONLY.

FOR ALLOWABLE SPANS VS. DESIGN LOADS

REFER TO SHEET 4.

WHEN ANCHORING TO WOOD, THE WOOD MUST BE
A MINIMUM 2 X 4 EQUAL TO #2 SOUTHERN PINE

0.55 SPECIFIC GRAVITY
AND STRUCTURALLY PART OF THE FRAMING STRUCTURE

OR SUCURELY ATTACHED TO FRAMING STRUCTURE

SHADED AREAS REPRESENT ANCHOR CONDITIONS THAT

ARE NOT ACCEPTABLE.

IT SHALL BE THE RESPONSIBILITY OF THE
CONTRACTOR TO VERIFY THE SOUNDNESS OF

THE STRUCTURE TO WITH STAND THE ADOITIONAL

LOADS AND INSURE PROPER ANCHORAGE.
SHUTTER SYSTEM MAY BE INTSALL INTO WOOD,
CONCRETE OR MASONRY.

Vi

ROBERT\.
EB—-0006024

AT ENGINEERING, NC

il

MONSOUR, PE

PROD

as¢o ;’tm REVISED

Buu,,,g 8 with the pyq,
Cade rida

Wm%

2. 250
By 02
Coat

APPKCYED AS COMPLYING WiTH THf
SOUTH FLORIDA BUILDING CODE

PROJUCT CO¥rTot
BUILDIRG

ACCEPTANCE NG.S}?:&LL?_-O%I

DIv.s 0%
CCDE COMPLANCL OrFiCtL

BUILDING CODE COMPLIANCE |

REVISIONS BY

N

I

2100 w76~ STRELDT, SULITD 21t
HALEAH, FORINA 235016

RAMMS €NGINEERING, INC.
S rcltnst Desipm

EB 0006024

FLL 33014

AL EAR,

MEeTALIECH, e

7633 wW. SECOND CT.

v,
Qn
EST. 1957

1D
C}gdl

_
SEP/JRB/RSM

APINOAD

[
01/15/99

Y
SHOWN

=
99001
sar

7

, orry



